A IR
FE 3B SFM3IFE8A16H(A)~s3IES A 22H(H)

=TI Iy B BN S DER TN S Y S PR ae B
RS ™7 A /L A Y 287 1 3 2 1
USERE e 28 0 0
ABERMAE L 4 BEITESE 92 0 5 1 1 3
MR IR 1,144 5 54 23 4 2 4 16 2 3
KiE 27 0 3 2 1
F A 18 0 0
(YL MEALBE 3 0 0
GRS 68 0 0
VI ZAVE 9 0 0
TATHEH T Ik 15 0 0
A 7T 0 0 0

qpnl | 0| S S sk | enk | skl | sk | 85
RS 7 A /L A JRYLIE 287 1 3 2 1 0 -
MR ST s B 280 28 0 0 0 -
AR ML 4 BRERERR 92 0 5 2 3 0 -
SR ok 1,144 5 54 22 13 14 5 36 150.0%
KiE 27 0 3 2 1 0 -
F A 18 0 0 1 0.0%
(YL MEALBE 3 0 0 0 -
ZERMEI IS 68 0 0 6 0.0%
S ZaVE a 9 0 0 0 -
TATIHEH T 15 0 0 0 -
A TN W 0 0 0 0 -

<LEDa AL R>
LAE : S A%

RERFATIEH Y FHEA,




